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Presenter: Two guys except the one form Mongol

‘Statement of purpose’ states assumptions well and clearly.

‘System context Diagram’ looks good.

DFD looks different (from other’s ones). Which editor did you use?

The Figure in page 15 is a ‘Finite State Machine” for a control process node in DFD. You
have to distinguish it clearly.

All atomic data process node should be a mathematical function — many inputs and one
output with no internal storage for calculation.

The levels you identified and specified are not in accordance with the fundamentals of
SASD - “top-down divide and conquer”.

You did it well. I hope you guys finish the whole SASD successfully. A4
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